Pages 202-204
Pages 206-208
Pages 210-212
Pages 214-216
~ Pages 218-220
| Pages 222-224







7 bt

Daman'

Daman’s Header Block is
designed to provide outlet ports

Header Block

that are common to one header
(thru) port. The header port is

always one size larger than the
outlet ports.

Available Header Block

Configurations

EE)

Junction Block

Daman’s Junction Block is

designed to provide a place

to join piping and change
direction or split / combine
with other lines.

Available Junction Block
Configurations

0° design 90° design 180° design 90° design 180° design 270° design
See pages See pages See pages See pages See pages See pages
202-204 206-208 210-212 214-216 218-220 222-224
Port Size Mounting Bolts** Port Size Mounting Bolts**
01P (2) or (3) UNC #10-24 x 1.50 long SHCS 04 (2) or (3) UNC 0.25-20 x 2.25 long SHCS
01T M5 x 0.8 x 40mm long SHCS o M6 x 1.0 x 60mm long SHCS
02P (2) or (3) UNC 0.25-20 x 2.00 long SHCS ~ o 06* (2) or (3) UNC 0.25-20 x 2.25 long SHCS
02[B,T] M6 x 1.0 x 50mm long SHCS 0 = M6 x 1.0 x 60mm long SHCS
o | os 06S |(2) or (3) UNC 0.25-20 x 2.25 long SHCS % T 08* (2) or (3) UNC 0.25-20 x 2.50 long SHCS
& 06M M6 x 1.0 x 60mm long SHCS p E M6 x 1.0 x 65mm long SHCS
-5 S 06/08P  |(2) or (3) UNC 0.25-20 x 2.50 long SHCS o o 19+ (2) or (3) UNC 0.31-18 x 3.00 long SHCS
o S | 06/08[B,T] |M6 x 1.0 x 65mm long SHCS 13 c M8 x 1.25 x 75mm long SHCS
om :‘E 08S (2) or (3) UNC 0.25-20 x 2.75 long SHCS c e 16 (2) or (3) UNC 0.38-16 x 3.50 long SHCS
s o 08M M6 x 1.0 x 70mm long SHCS 3 g M10 x 1.5 x 90mm long SHCS
'g = 19+ (2) or (3) UNC 0.31-18 x 3.00 long SHCS s 20* (2) or (3) UNC 0.50-13 x 4.50 long SHCS
o e M8 x 1.25 x 75mm long SHCS M12 x 1.75 x 120mm long SHCS
I g 16* (2) or (3) UNC 0.38-16 x 3.50 long SHCS oa (2) or (3) UNC 0.50-13 x 5.00 long SHCS
s M10 x 1.50 x 90mm long SHCS M12 x 1.75 x 130mm long SHCS
20* (2) or (3) UNC 0.50-13 x 4.50 long SHCS
M12 x 1.75 x 120mm long SHCS
24P (2) or (3) UNC 0.50-13 x 5.00 long SHCS
24[B,T] |[M12 x 1.75 x 130mm long SHCS
248 (2) or (3) UNC 0.50-13 x 5.50 long SHCS
24M M12 x 1.75 x 140mm long SHCS

*B,M, T come with metric bolts. P, S come with UNC bolts.
**Mounting bolts not included for stainless steel products.

Tapping Servo Valve Valve Cover Standard Custom
Adaptors Products

Plates

Cartridge Valve

(]
5o
€29
®m
O C
T o
L]
I c
=
=

Daman Products Company, Inc. * 1811 North Home Street « Mishawaka, IN 46545-7267
Tel: 800.959.7841 574.259.7841 « Fax: 800.241.7664 « Email: sales@daman.com ¢ www.daman.com

201

Technical

Plates | Manifolds |

Subplates |

Subplates

Cavity Bodies

Information



7

Daman’

Header Manifolds - 0" Design

L DIA~ M PLACES

Q NPTF/BSPP/BSPT
R METRIC/ SAE PORTS~ S PLACES

Header block mounting hardware

is supplied, except for stainless.
See page 201 for itemized list.

A B
= C =] = D —==—— ETPP ——f iF
1T TS e
c c
YO S e i
i + +
e
H—=] J
N NPTF / BSPP / BSPT K
P METRIC / SAE PORT ‘ if
BOTHENDS T } f Pan) / /[
%J — < ?
] °
ot

Ordering Information

Specifications, descriptions, and dimensional data are subject to

correction or change without notice or incurring obligation.
Download latest catalog page revisions at www.daman.com.

i ; ; Side Port For coating options
Material Product Type |Side Port Layout| No. of Stations Threads see pages 245-246.
Material Side Port Layout Side Port Threads
Aluminum - 6061-T6 Ports out one side
A | 5000t psi e 20.7 MPa 000 only -- | 01P | 01T 04M*| 04S*
D | Ductite Iron - D4512 02B | 02P | 02T |» 06M*| 06S*| g
50001 psi ¢ 34.5 MPa - . . * |RNOg * x| 2 2
g | Stainless Steel - 174 No. of Stations 04B™ | 04P* | 04T" |, Qg 08M*| 08S* = 4
50001 psi » 34.5 MPa Check chart on 06B | 06P | 06T |22~ [12M**[128** 8¢
T Working pressure should 01 next page to =2 3 S
i i * * * L *% *% =
e iy S wu | very saten- | [08B”| 08P | 08T" g% “|16M™*|165™ ¢
appropriate material type. 10 p°’;i,f'azt?0ﬁ§m' 12B**|12P**|12T** o 'g $|20M**|208**| L~
* " nw
e e cetproducts Product Type 16B**|16P**|16T** ‘f ar|24M | 248 | =5
H | Header Block 20B**|20P**|20T** n%?}%égr}a%ggfy ®
24B | 24P | 24T ® combinations
* Available in Stainless Steel

** Available in Stainless Steel, 1-5 stations
Note: Pipe ports in stainless can gall.

202

Daman Products Company, Inc. + 1811 North Home Street « Mishawaka, IN 46545-7267
Tel: 800.959.7841 574.259.7841 - Fax: 800.241.7664 + Email: sales@daman.com ¢ www.daman.com




ed
7 bt 5 9
Daman’ 2 3
23
o
Header Manifolds - 0" Desi
eader Manifolds - 0° Design
=
c
PART NO. A B |c|D|E|F]|]G]|H J K L M| N P Q R s||s
*H0000101[P,T] 2.00 - 138 4 1
*H0000201[P. T] 3.25 ~ | 263 4 2
*H0000301[P,T] 4.50 ~ | 388 4 3| ——
*H0000401[P.T] 5.75 ~ | 513 4 4
ﬂgggggg]{gﬂ 125 | 199 10.63]1.00|1.25(017091(031| .5, | Sos |022| g | 18 - line| - 3
*H0000701[P,T] 9.50 506 | 8.88 6 71128
*H0000801[P,T] 10.75 506 | 10.13 6 8 |82
*H0000901[P.T] 12.00 631 | 11.38 6 9
*H0001001[PT] 13.25 6.31 | 12.63 6 10
*H0000102[B,P,T] 2.25 - 163 4 1
*H0000202[B.P.T] 3.63 ~ | 300 4 2 |
1000040245, T] 838 M y ;

E] ] - . w
*nggggggﬂg*ﬁ% 150 | &7 075 (143 1.38| 025 [1.00 (031 | 423 | 713 Jo2g| & fua| - |us| - |3||esg
*H0000702[B.P.T] 10.50 563 | 9.88 6 70| &
*H0000802[B.P.T] 11.88 563 | 11.25 6 8 2
*H0000902[B.P.T] 13.25 7.00 | 12.63 6 9
*H0001002[B.P.T] 14.63 7.00 | 14.00 6 10
*H0000104* 2.13 - 1.50 4 1T
*H0000204* 3.88 ~ | 325 4 2
*H0000304* 5.63 ~ | 500 4 3 | |w
*H0000404* 7.38 - 6.75 4 6 4 4 g
*H0000504* 9.13 513 | 850 6 5|2
0000804 175 | j5sp 088106 175(025| 125 [031| 213 | (55 |028[ g |38 | o 14| o |2]|[2
*H0000704* 12.63 6.88 | 12.00 6 M14x1.5 M10x1.0 | 7 13
*H0000804* 14.38 6.88 | 13.75 6 8
*H0000904* 16.13 8.63 | 1550 6 9
*H0001004* 17.88 863 | 17.25 6 10
*H0000106[B,P,T] 3.00 ~ | 238 4 |,
*H0000206(B.P,T] 5.00 ~ | 438 4 2|(2q
*H0000306(B.P.T] 7.00 ~ | 638 4 3|8
*H0000406[B.P.T] 9.00 ~ | 838 4 2|z 8
*H0000506(B.P,T] 11.00 6.19 | 10.38 6 5 S
e R A el R B 2 B L I R R | T
*HO000806[B.P.T] 17.00 819 | 16.38 6 8
*H0000906[B.P. T] 19.00 10.19 | 18.38 6 9 | ——
*H0001006(B.P,T] 21.00 1019 | 20.38 6 10
*H0000106[M.S] 3.00 ~ [ 238 4 1|5
Ry || 2F 1N :|le:

, - . Q =
*H0000406[M.S] 9.00 ~ | 838 4 4| |28
FIRSOIOMS) | 176 | 112 (o 160|200 oas| nas o | €32 | B | i8] | 2 || & [F]F
*H0000706[M.S] 15.00 819 | 14.38 6 M18x1.5 M14ax15 | 7
*H0000806[M.S] 17.00 819 | 16.38 6 8
*H0000906[M.S] 19.00 10.19 | 18.38 6 9|2 4
*H0001006[M.S] 21.00 1019 | 20.38 6 0] |58
*H0000108[B,P,T] 3.00 ~ | 238 4 11178
e || o S| :||¢
*H0000408[B.P.T] 10.13 - 950 4 4| [E :;;
T000000aB P | 200 | 1788 100|150 (238|025 | 150 [031( 713 | 1352 (o028 | & fa4 | - |2 | - |Z][8°
*H0000708[B.P.T] 17.25 950 | 16.63 6 7
*H0000808[B.P.T] 19.63 9.50 | 19.00 6 8 [
*H0000908[B.P,T] 22.00 11.88 | 21.38 6 o | k=
*H0001008[B.P.T] 24.38 11.88 | 23.75 6 10 | B

S
TS
© ©
Chart continued on next page T §
203

Daman Products Company, Inc. * 1811 North Home Street « Mishawaka, IN 46545-7267
Tel: 800.959.7841 574.259.7841 « Fax: 800.241.7664 « Email: sales@daman.com ¢ www.daman.com

Technical
Information




7 bt

Daman’

Header Manifolds - 0°

Design (cont)

PART NO. A B c|po|E|F| G |H J K L M| N P Q R S
*H0000108[M,S] 3.00 ~ 2.38 4 1
*H0000208[M.S] 5.38 - 4.75 4 2
*H0000308[M.S] 7.75 - 7.13 4 3
*H0000408[M.S] 10.13 - 9.50 4 12 8 4
*H0000508[M.S] 12.50 713 | 11.88 6 5
*HO000B08IM ] 2.25 | 100 |1.13[150|238(0.25 175|031 | 513 | 152 [028 2 | - or - or o
*H0000708[M, ] 17.25 9.50 | 16.63 6 M27x2.0 M18x1.5 | 7
*H0000808[M.S] 19.63 950 | 19.00 6 8
*H0000908[M.S] 22.00 11.88 | 21.38 6 9
*H0001008[M.S] 24.38 11.88 | 23.75 6 10
*H0000112* 3.63 - 2.88 4 1
*H0000212* 6.88 - 6.13 4 2
*H0000312* 10.13 - 9.38 4 3
*H0000412* 13.38 ~ | 1263 4 16 1o | 4
Rprrreds 250 | 1583 1125 1.81|3.25| 028 [1.94 | 038 | 338 | 1388 o34 | & | 1 o 34| o |2
*H0000712* 23.13 12.81 | 22.38 6 M33x2.0 M27x2.0 | 7
*H0000812* 26.38 12.81 | 25.63 6 8
*H0000912* 29.63 16.06 | 28.88 6 9
*H0001012* 32.88 16.06 | 32.13 6 10
*H0000116* 4.00 = 3.25 4 1
*H0000216* 7.75 - 7.00 | _| 4 2
*H0000316* 11.50 ~ 1075 |20l 4 3
*Ho0000516° 1550 oo | 1855 38| & 20 16| g
*HO000616* 3.00 | 5575 | 1.50(2.00|3.75/0.34]2.31(0.38| 4100 | 22700 %% g [1-1/4 or 1" or 6
*H0000716* 26.50 1475 | 25.75 |n & 6 M42x2.0 M33x2.0 | 7
*H0000816* 30.25 14.75 | 2950 (2 & | 6 8
*H0000916* 34.00 1850 | 33.25 |® | 6 9
*H0001016* 37.75 18.50 | 37.00 6 10
*H0000120* 4.50 = 3.50 4 1
*H0000220* 8.50 - 7.50 4 2
*H0000320* 12.50 ~ | 1150 4 3
*H0000420* 16.50 ~ | 1550 4 Y 20 | 4
*Eggggggg* 3.50 gg'gg 1.75 [ 2.25 | 4.00 | 0.41 | 2.69 | 0.50 ]Hg ;g'gg 053 g 12| or  |1-1/4]  or g
*H0000720* 28.50 15.75 | 27.50 6 M48x2.0 M42x2.0 | 7
*H0000820* 32.50 15.75 | 31.50 6 8
*H0000920* 36.50 19.75 | 35.50 6 9
*H0001020* 40.50 19.75 | 39.50 6 10
*H0000124[BP.T] 5.00 = 4.00 4 1
10000324 B P T] 1500 i y :
*H0000424[B.P.T] 20.00 9.50 | 19.00 6 4
*:ggggggj{g’gﬂ 4.00 | 25901500 | 250 | 5.00 | 0.41|3.19 | 0.50 | 1430 | 2390 1053 6 | o ] B
*H0000724[B.P.T] 35.00 19.50 | 34.00 6 7
*H0000824[B.P.T] 40.00 19.50 | 39.00 6 8
*H0000924[B.P.T] 45.00 2450 | 44.00 6 9
*H0001024[B.P.T] 50.00 24.50 | 49.00 6 10
H00002241M'S) 10,00 = | oo y y
*H0000324[M.S] 15.00 ~ | 14.00 4 3
*H0000424[M.S] 20.00 9.50 | 19.00 6 32 on | 4
ﬂggggggﬂmg 450 | 2500 1225|250 | 5.00 [0.41 | 3.69 050 | 1430 | 2400 1 o53] & | or - o |3
*H0000724[M.S] 35.00 19.50 | 34.00 6 ME0x2.0 M48x2.0 | 7
*H0000824[M.S] 40.00 19.50 | 39.00 6 8
*H0000924[M.S] 45.00 2450 | 44.00 6 9
*H0001024[M.S] 50.00 2450 | 49.00 6 10

204

Daman Products Company, Inc. + 1811 North Home Street « Mishawaka, IN 46545-7267
Tel: 800.959.7841 574.259.7841 - Fax: 800.241.7664 + Email: sales@daman.com ¢ www.daman.com




7 bt

Header Manifolds - 90° &

Standard Custom
Manifolds Products

Cover
Plates

Valve
Adaptors

Subplates |

Servo Valve
Subplates

Tapping
Plates

Cartridge Valve
Cavity Bodies

(]
5o
€29
®m
O C
T o
L]
I c
=
=

Daman Products Company, Inc. * 1811 North Home Street « Mishawaka, IN 46545-7267
Tel: 800.959.7841 574.259.7841 « Fax: 800.241.7664 « Email: sales@daman.com ¢ www.daman.com

205

Technical
Information




7

Daman’

Header Manifolds - 90 Design

L DIA~ M PLACES

Header block mounting hardware
is supplied, except for stainless.
See page 201 for itemized list.

Q NPTF/BSPP/BSPT
R METRIC/ SAE PORTS~ S PLACES

A B
e C =] e D e — F
C | = D ETYP i
LS 5 7/
c c / T
I T . .
ol
H —= J
N NPTF/BSPP/BSPT K
P METRIC/SAE PORT ‘ F
BOTH ENDS Fan) ] /
\TJ

Ordering Information

o
-

Specifications, descriptions, and dimensional data are subject to
correction or change without notice or incurring obligation.
Download latest catalog page revisions at www.daman.com.

i ; ; Side Port For coating options
Material Product Type |Side Port Layout| No. of Stations Threads see pages 245-246.
Material Side Port Layout Side Port Threads
Aluminum - 6061-T6 Ports out two adja- * * * * *
A 3000t psi e 20.7 MPa 090 cent sides 04B* | 04P™ | 04T Or;’ - 04M*| 04S §
i - 82T * |23
D | 5000+ pei » 346 yio 06B* osp* 06T* 553 osm* oss* iy
T S o o
S* Stainless Steel - 17-4 No. of Stations 08B*| 08P* | 08T S g 'C‘) 08M*| 08S 2 §
SQOOT psi e 34.5 MPa 01 Check chart on 12B**|12P**|12T** 9 < UT) 12M**|12S** % =
i presere ik 3 I rpsom psviom ppoems ] ey ppven 1
with IS0 4413 to determine thru | verlly station- £28 =
appropriate material type. 10 P birations 20B**|20P**|20T** ? L[IL '1 20M**(20S**| = g)
*All stainless steel product !
arcpessivated. | Product Type 24B | 24P | 24T |° |24m | 245 | ©
Check chart on next page to verify
H | Header Block station-port size combinations

* Available in Stainless Steel

** Available in Stainless Steel, 1-5 stations
Note: Pipe ports in stainless can gall.

206

Daman Products Company, Inc. + 1811 North Home Street « Mishawaka, IN 46545-7267
Tel: 800.959.7841 574.259.7841 - Fax: 800.241.7664 + Email: sales@daman.com ¢ www.daman.com




ed
7 iod 58
Daman 23
33
o
Header Manifolds - 90  Desi
eader Manifolds - esign
T 2
PART NO. Al B |[c|[plE[F]c][H] K | L |M|N P Q R_[s||g5§
*H0900104" 2.13 | 150 4 2 =
*H0900204* 3.88 ~ | 325 4 4
*H0900304* 5.63 ~ | 500 4 6 | ——
*H0900404* 7.38 ~ | 675 4 8
* * '6 '4
.H09005047 175 | 213 1oss|1.06|1.75|025|1.25]031| 213 | 850 V02| 6 |38 | o |14| o |10
H0900604 10.88 513 | 10.25 6 M s ool 12| s o
*H0900704* 12,63 6.88 | 12.00 6 : Ol1a||8 8
*H0900804* 14.38 6.88 | 1375 6 16|38
*H0900904* 16.13 8.63 | 1550 6 18| lom
*H0901004* 17.88 8.63 | 17.25 6 20
*H0900106(B,P,T] 3.00 | 238 4 2
i i | |
*H0900406[B.P.T] 9.00 - 8.38 4 8
*H0900506(B,P,T] 11.00 6.19 | 10.38 6 10 o
09000068, T] | 290 | 1300 | 100| 150|200 (025|150 |031| gig | 1535 |028| § |2 | - || - |lofles
*H0900706[B.P.T] 15.00 819 | 1438 6 1|8 &
*H0900806(B,P,T] 17.00 819 | 16.38 6 16|~ 2
*H0900906(B,P.T] 19.00 10.19 | 18.38 6 18
*H0901006[B.P.T] 21.00 1019 | 20.38 6 20
*H0900106[M,S] 3.00 ~ | 238 4 2 | —
“H0900306M.S] 700 | 6 4 6
’ . - . (7]
*H0900406{M.S] 9.00 ~ | 838 4 & s | 8]l2
Hosoosoemral | 175 | 1399 |088|150| 200|025 | 125 031 | g3 | 1938 |o28| & | ~ | or | - | o [10fI2
*H0900706[M.S] 15.00 8.19 | 14.38 6 M18x1.5 MIBAS | 14| |5
*H0900806[M.S] 17.00 819 | 16.38 6 16 | |@
*H0900906{M.S] 19.00 10.19 | 18.38 6 18
*H0901006[M.S] 21.00 1019 | 20.38 6 20
“H0900108[B,P.T] 3.00 ~ | 238 4 2
H0900208[B.P.T] 5.38 ~ | 475 4 4 |le,
*H0900308[B,P.T] 7.75 ~ | 713 4 6|38
*H0900408[B.P.T] 10.13 ~ | 950 4 8|55
* Q
‘Hos00eoaierT | 200 | 1588 | 100|150 | 238|025 150|031 | £13 | BB% lo2s| g a4 | - 12| - |]3]|[2 8
*H0900708[B.P.T] 17.25 950 | 16.63 6 14 || o
*H0900808[B,P.T] 19.63 950 | 19.00 6 16
*H0900908[B.P,T] 22.00 11.88 | 21.38 6 18 | ——
*H0901008(B.P.T] 24.38 11.88 | 23.75 6 20
SO REINE s
, . - . »
*H0900308[M.S] 7.75 ~ | 713 4 6|58
*H0900408[M.S] 10.13 ~ | 950 4 i g | 8|28
* - - S Qo
‘Hos00c0am sl | 225 | 1558 | 113|150 | 238|025 | 175|031 | 703 | 15 Jo2s| g | - o | - oo |19
*H0900708[M.S] 17.25 950 | 16.63 6 M27x2.0 M18x1.5 | 14
*H0900808[M.,S] 19.63 950 | 19.00 6 16
*H0900908[M.S] 22.00 11.88 | 21.38 6 18 | [o
*H0901008[M.S] 24.38 11.88 | 23.75 6 20|28
*H0900112" 3.63 ~ | 288 4 2 [I2%
*H0900212* 6.88 ~ | 613 4 1| [ga
*H0900312* 10.13 ~ | 938 4 6 | 18>
*H0900412* 1338 ~ | 1263 4 16 1o |8|[EE
,H09005127 250 | 1863 1425 |1.81(3.25(028(1.94[038] 226 | 1988 1534( 6 | 4 o | 34| o |19]]88
H0900612 19.88 956 | 19.13 6 Vaero o oo o | 12| |8
*H0900712* 23.13 12.81 | 22.38 6 : 01 4q
*H0900812* 26.38 12.81 | 25.63 6 16
*H0900912* 29.63 16.06 | 28.88 6 18
*H0901012* 32.88 16.06 | 32.13 6 20

(]
5o
€29
®m
O C
T o
L]
I c
=
=

Chart continued on next page

207
Daman Products Company, Inc. * 1811 North Home Street « Mishawaka, IN 46545-7267

Tel: 800.959.7841 574.259.7841 « Fax: 800.241.7664 « Email: sales@daman.com ¢ www.daman.com

Technical
Information




7

Daman’

Header Manifolds - 90 Design (cont)

PART NO. A B |C|D]|E]|F]|G]|H J K LIM]| N P Q R s
*H0900116* 4.00 ~ | 325 7 2
*H0900216* 7.75 ~ | 700 |® | 4 4
*H0900316* 11.50 ~ | 1075 |25 4 6
H0900815" 1550 100 | 1858 |38 6 20 16|
oso0ere 300 | 2390 | 150 |200(375 | 034|231 038 | 1190 | 2555 |S@ | & [1-1/4] o 1 or |19
*H0900716* 26.50 1475 | 2575 [n & 6 M42x2.0 M33x2.0 | 14
*H0900816* 30.25 1475 | 2050 |©%| 6 16
*H0900916* 34.00 1850 | 3325 |® ™| 6 18
*H0901016* 37.75 1850 | 37.00 6 20
*H0900120* 4.50 ~— | 350 4 2
*H0900220* 8.50 ~ | 750 4 4
*H0900320* 12.50 ~ | 1150 4 6
H0900820" 26.30 1175 | 1950 e 24 20 |
10900650" 350 | 2050 | 1.75|2.25| 4.00 [ 0.41 | 269 | 050 | 1175 | 1950 V053] & J14i2| or (14| or |19
. . : : : M48x2.0 M42x2.0

H0900720 28.50 15.75 | 27.50 6 14
*H0900820* 32.50 15.75 | 31.50 6 16
*H0900920* 36.50 1975 | 3550 6 18
*H0901020* 40.50 19.75 | 39.50 6 20
*H0900124[B,P T} 5.00 ~ | 400 4 2
R || A IE g
*H0900424[B.P.T] 20.00 9.50 | 19.00 6 8
*Eggggggj{g'?ﬂ 4.00 gg'gg 2.00 |2.50 | 5.00 | 0.41 | 3.19 | 0.50 12'28 53'88 0.53 g 2’ N RV 1 B
*H0900724[B P.T] 35.00 1950 | 34.00 6 14
*H0900824[B P.T] 40.00 1950 | 39.00 6 16
*H0900924[B.P.T] 45.00 2450 | 44.00 6 18
*H0901024[B P.T] 50.00 24550 | 49.00 6 20
*H0900124[M,S] 5.00 ~ | 400 4 2
*H0900224[M.S] 10.00 ~ | 900 4 4
*H0900324[M S] 15.00 ~ | 14.00 4 6
*H0900424[M S] 20.00 950 | 19.00 6 5 o |8
ooooaaae) 450 | 3500 | 225|250 | 500 041|369 050 | 1420 | 5600 [083| g | ~ | o || or |19
*H0900724[M.S] 35.00 19.50 | 34.00 6 M60x2.0 Ma8x2.0 | 14
*H0900824[M S] 40.00 1950 | 39.00 6 16
*H0900924[M S] 45.00 24550 | 44.00 6 18
*H0901024[M.S] 50.00 2450 | 49.00 6 20

208

Daman Products Company, Inc. + 1811 North Home Street « Mishawaka, IN 46545-7267
Tel: 800.959.7841 574.259.7841 - Fax: 800.241.7664 + Email: sales@daman.com ¢ www.daman.com




7 bt

Header Manifolds - 180° &

Standard Custom
Manifolds Products

Cover
Plates

Valve
Adaptors

Subplates |

Servo Valve
Subplates

Tapping
Plates

Cartridge Valve
Cavity Bodies

(]
5o
€29
®m
O C
T o
L]
I c
=
=

Daman Products Company, Inc. * 1811 North Home Street « Mishawaka, IN 46545-7267
Tel: 800.959.7841 574.259.7841 « Fax: 800.241.7664 « Email: sales@daman.com ¢ www.daman.com

209

Technical
Information




7

Daman’
Header Manifolds - 180 Design

Header block mounting hardware
is supplied, except for stainless.

L DIA~ M PLACES Q NPTF/BSPP /BSPT See page 201 for itemized list.
R METRIC/SAE PORTS~ S PLACES
A B
= C—= D ETYP F
D,

N il
i T T {1\ ) ] /[ )
[ / T
A ,,\/ v v f+ + G
ol
H —= J
N NPTF/BSPP /BSPT K
P METRIC / SAE PORT ‘ F
BOTH ENDS D ] Pan) /] /
\T/

[

il 4

== D == ETYP —]

(550
O ©,

Ordering Information

o —= =

Specifications, descriptions, and dimensional data are subject to
correction or change without notice or incurring obligation.
Download latest catalog page revisions at www.daman.com.

i ; ; Side Port For coating options
Material Product Type |Side Port Layout| No. of Stations Threads see pages 245-246.
Material Side Port Layout Side Port Threads
Aluminum - 6061-T6 Ports out two oppo- * * * * *
A 30007 psi e 20.7 MPa 180 site sides 04B 04P 04T E - 04M 048 §
D Ductile Iron - D4512 06B | 06P | 06T S S g 06M* | 06S* g y
5000t psi o 34.5 MPa - " " " @ —m " . g P
S* Stainless Steel - 17-4 No. of Stations 08B* | 08P* | 08T g %) ’8 08M*| 08S @ 8‘3;
50007 psi e 34.5 MPa Check chart on 12B**|12P**|12T** 5 <Z,; (2] 12M**|12S** é =
T Working pressure should 01 next page to & & & =4y
be considered in accordance : - *k *k eI *k *k| W =
with 1SO 4413 to determine thru | verlly station- 16B™16P™16T g2 16M™16S T
appropriate material type. 10 p%;;?{)ﬁ‘;m' 20B**|20P**|20T**|= 2 "[20M**|20S**| = &
1 "
*All stainl teel duct:
are passivated. Product Type 24B | 24P | 24T |° [24M | 245 | °
Check chart on next page to verify
H | Header Block station-port size combinations

* Available in Stainless Steel
** Available in Stainless Steel, 1-5 stations
Note: Pipe ports in stainless can gall.

210
Daman Products Company, Inc. + 1811 North Home Street « Mishawaka, IN 46545-7267

Tel: 800.959.7841 574.259.7841 - Fax: 800.241.7664 + Email: sales@daman.com ¢ www.daman.com



ed
(7 &t I
Daman 23
33
o
Header Manifolds - 180" Desi
eader Manifolds - esign
T 2
PART NO. Al B |[c|plE|[F]c][H] U K | L |M|N P Q R_[s||g5§
*H1800104" 2.13 | 150 4 2 =
*H1800204* 3.88 ~ | 325 4 4
*H1800304* 5.63 ~ | 500 4 6 | ——
*H1800404* 7.38 ~ | 675 4 8
*H1800504* 9.13 513 | 850 |00g| 6 | 38| = |44l o |10
*H1800604* 175 | 10.88 |0.88|1.06|1.75|0.25|1.25|0.31| 513 | 1025 | %28 6 12|
M14x1.5 M10x1.0 P
*H1800704* 12,63 6.88 | 12.00 6 : Ol1a||8 8
*H1800804* 14.38 6.88 | 1375 6 16|38
*H1800904* 16.13 8.63 | 1550 6 18| lom
*H1801004* 17.88 8.63 | 17.25 6 20
*H1800106(B,P,T] 3.00 | 238 4 2
it 2 1Rt |
*H1800406[B.P.T] 9.00 - 8.38 4 8
*H1800506(B,P,T] 11.00 6.19 | 10.38 6 10 o
418000068, T] | 290 | 1300 | 100| 150|200 (025|150 |031| g7g | 1533 |028| § |2 | - || - |lofles
*H1800706[B.P.T] 15.00 819 | 14.38 6 1|8 &
*H1800806(B,P,T] 17.00 819 | 16.38 6 16|~ 2
*H1800906(B,P.T] 19.00 10.19 | 18.38 6 18
*H1801006[B.P,T] 21.00 10.19 | 20.38 6 20
“H1800106[M,S] 3.00 ~ | 238 4 2 | —
TR || SN ‘é
’ . - . (7]
*H1800406[M.S] 9.00 ~ | 838 4 8 | |2
* -8 -6 =]
Taoococmrel | 175 | 1300 |088|150| 200|025 125 031 | g3 | 1938 |o28| & | ~ | or | - | o [10fI2
*H1800706[M.S] 15.00 819 | 14.38 6 M18x1.5 M14x1.5 1 14| |8
*H1800806[M.S] 17.00 819 | 16.38 6 16 | |@
*H1800906[M.S] 19.00 10.19 | 18.38 6 18
“H1801006[M.S] 21.00 1019 | 20.38 6 20
*H1800108[B,P.T] 3.00 ~ | 238 4 2
H1800208[B.P.T] 5.38 ~ | 475 4 4 |le,
*H1800308[B,P.T] 7.75 ~ | 713 4 6|38
*H1800408[B.P.T] 10.13 ~ | 950 4 8|55
* Q
*mgggggg%*ﬁﬁ 2.00 | 1220 1 1.00| 150 238|025 150 031 | 213 | 88 o8| O faa |~ a2 | - [I0]]22
*H1800708[B.P.T] 17.25 950 | 16.63 6 14 || o
*H1800808[B,P.T] 19.63 950 | 19.00 6 16
*H1800908[B.P.T] 22.00 11.88 | 21.38 6 18 | ——
*H1801008(B.P.T] 24.38 11.88 | 23.75 6 20
rmmy || b DI e
, . - . »
*H1800308[M.S] 7.75 ~ | 713 4 6|58
*H1800408[M.S] 10.13 ~ | 950 4 8 | |88
. -12 -8 oo
‘H1s0000am sl | 225 | 138 | 113|150 | 238|025 | 175|031 | 703 | 1% Jo2s| g | - o | - oo |19
*H1800708[M.S] 17.25 950 | 16.63 6 M27x2.0 M18x1.5 | 14
*H1800808[M.S] 19.63 950 | 19.00 6 16
“H1800908[M.S] 22.00 11.88 | 21.38 6 18 | [o
*H1801008[M.S] 24.38 11.88 | 23.75 6 20|28
*H1800112* 3.63 ~ | 288 4 2 [I2%
*H1800212* 6.88 ~ | 613 4 1| (g @
*H1800312* 10.13 ~ | 938 4 6 | 18>
*H1800412* 1338 ~ | 1263 4 16 1o |8|[EE
,H18005127 250 | 1863 1425 1.81(3.25(028(1.04|038] 226 | 1988 1534( 6 | 4 o | 34| o |19]]88
H1800612 19.88 956 | 19.13 6 Vaero o oo o | 12| |8
*H1800712* 23.13 12.81 | 22.38 6 : 01 4q
*H1800812* 26.38 12.81 | 25.63 6 16
*H1800912* 29.63 16.06 | 28.88 6 18
“H1801012* 32.88 16.06 | 32.13 6 20

(]
5o
€29
®m
O C
T o
L]
I c
=
=

Chart continued on next page

21
Daman Products Company, Inc. * 1811 North Home Street « Mishawaka, IN 46545-7267

Tel: 800.959.7841 574.259.7841 « Fax: 800.241.7664 « Email: sales@daman.com ¢ www.daman.com

Technical
Information




7

Daman’

Header Manifolds - 180

Design (cont)

PART NO. A B |cC|D]|E]|]F]|]G]|H J K LIM|N P Q R S
*H1800116" 4.00 ~ | 325 7 2
*H1800216* 7.75 ~ | 700 |® ]| 4 4
*H1800316* 11.50 - | 1075 |23 4 6
* * — _1

H1800e16- 1550 1100 | 1895 g8 e -20 S P
R Rredes 3.00 | 5992 1150200375034 (231038 | 1100 | 2555 1S @ | & |1-14] or 1" o |19
. . : : 00 1@, M42x2.0 M33x2.0
H1800716 26.50 1475 | 25.75 [ 5| 6 14
*H1800816* 30.25 1475 | 2050 |2 & 6 16
*H1800916* 34.00 1850 | 3325 [® | 6 18
*H1801016* 37.75 18.50 | 37.00 6 20
*H1800120* 450 ~ | 350 4 2
*H1800220* 8.50 —- | 750 4 4
*H1800320* 12.50 ~ | 1150 4 6
1800820" 2020 1175 | 1950 p 24 20 |
180060504 350 | 5020 | 1.75 | 2.25 | 4.00 | 041|269 [0.50 | 1173 | 1950 1053 | O |12| or |14 or |10
*H1800720* 2850 15.75 | 27.50 6 M48x2.0 M42x2.0 | 44
*H1800820* 32.50 15.75 | 31.50 6 16
*H1800920* 36.50 19.75 | 35.50 6 18
*H1801020* 4050 19.75 | 3950 6 20
*H1800124[B PT] 5.00 ~ | 400 4 2
o S A IE z;
*H1800424[B.P.T] 20.00 9.50 | 19.00 4 8
*mgggggj{g'gﬂ 4.00 gg'gg 2.00|2.50 | 5.00 | 0.41 | 3.19 | 0.50 ]j-gg 53-88 0.53 2 2’ N RV 1 B
*H1800724[B.P.T] 35.00 19.50 | 34.00 6 14
*H1800824[B.P.T] 40.00 1950 | 39.00 6 16
*H1800924[B.P.T] 45.00 2450 | 44.00 6 18
*H1801024[B.P.T] 50.00 2450 | 49.00 6 20
HEe || o AEIRE :
*H1800324[M.S] 15.00 — | 14.00 4 6
*H1800424[M.S] 20.00 950 | 19.00 4 3 o | 8
mgggggj{mg} 450 | 2500 1225|250 | 5.00 [0.41 | 3.69 050 | 1450 | 2400 1o 53] €| or - o |19
*H1800724[M.S] 35.00 19.50 | 34.00 6 M60x2.0 M48x2.0 | 14
*H1800824[M.S] 40.00 19.50 | 39.00 6 16
*H1800924[M.S] 45.00 2450 | 44.00 6 18
*H1801024[M.S] 50.00 2450 | 49.00 6 20

212

Daman Products Company, Inc. + 1811 North Home Street « Mishawaka, IN 46545-7267
Tel: 800.959.7841 574.259.7841 - Fax: 800.241.7664 + Email: sales@daman.com ¢ www.daman.com




7 bt

Junction Manifolds - 90° &

Standard Custom
Manifolds Products

Cover
Plates

Valve
Adaptors

Subplates |

Servo Valve
Subplates

Tapping
Plates

Cartridge Valve
Cavity Bodies

(]
5o
€29
®m
O C
T o
L]
I c
=
=

Daman Products Company, Inc. * 1811 North Home Street « Mishawaka, IN 46545-7267
Tel: 800.959.7841 574.259.7841 « Fax: 800.241.7664 « Email: sales@daman.com ¢ www.daman.com

213

Technical
Information




7

Daman’

Junction Manifolds - 90" Design

Junction block mounting hardware
is supplied, except for stainless.
See page 201 for itemized list.

-

D
L ‘ /[ /

L DIA~ M PLACES N NPTF/BSPP /BSPT
P METRIC/ SAE PORTS~ Q PLACES
A B
f«— D —=tw—— ETYP — =]
C

<—O——<-‘
|
:{
]

€
‘Q*R
i

Specifications, descriptions, and dimensional data are subject to
correction or change without notice or incurring obligation.
Download latest catalog page revisions at www.daman.com.

Ordering Information

i ; ; Side Port For coating options
Material Product Type |Side Port Layout| No. of Stations Threads see pages 245-246.
Material Side Port Layout Side Port Threads
Aluminum - 6061-T6 Ports out two adja- * * * * *
A 3000t psi ¢ 20.7 MPa 090 cent sides 04B* | 04P 04T E - 04M*| 04S §
D Ductile Iron - D4512 06B*| 06P* | 06T* ; S ; 06M* | 06S* g%
5000t psi o 34.5 MPa Oead g »
g | Stainless Steel - 17-4 No. of Stations 08B | 08P | 08T ?\:58 08M | 08S @g
; -z .
50001 psi  34.5 MPa Check chart on 12B* | 12P* | 12T* |9 T2[12M* | 12S* | o~
T Working pressure should 01 next page to 2 =
i i * * % |+ o * * 2
Wit 150 4413 1o dotormine tru | veriy siaton- | | 16B%| 16P* | 16T g & 3] 16M" | 165" | =
appropriate material type. 10 |[Ppomoce™ | [20B*| 20P* | 20T* |2 | 20M* | 20S* | =5
*All stainl teel duct:
are passivated, | Product Type 24B | 24P | 24T |° |24M | 245 | ©
Check chart on next page to verify
J | Junction Block station-port size combinations
* Available in Stainless Steel
Note: Pipe ports in stainless can gall.
214

Daman Products Company, Inc. + 1811 North Home Street « Mishawaka, IN 46545-7267
Tel: 800.959.7841 574.259.7841 - Fax: 800.241.7664 + Email: sales@daman.com ¢ www.daman.com



ed
(7 &t I
Daman 23
238
On
Junction Manifolds - 90 Desi
-
unctuon vianirolas esign oy
£ 3
o
T w=
S 2
PART NO. Al B [clole[rla|Hn] K | L[m[N P |a S8
*J0900104" 2.13 ~ | 150 4 2 =
*J0900204* 3.88 ~ | 325 4 4
*J0900304* 5.63 ~ | 500 4 6 -
*J0900404* 7.38 - | 675 4 . |8
*J0900504* 9.13 513 | 850 6 4 1o
10900804+ 175 | jogp 088 | 106|175 |025( 125|031 | 213 | {os |028| g | 14| or D Y
*J0900704* 12.63 6.88 | 12.00 6 0|14 S 3
*J0900804* 14.38 6.88 | 1375 6 16 3
*J0900904* 16.13 8.63 | 1550 6 18 on
*J0901004* 17.88 8.63 | 17.25 6 20
*J0900106* 3.00 ~ [ 238 4 2
*J0900206* 5.00 ~ | 438 4 4 —
*J0900306* 7.00 - | 638 4 6
*J0900406* 9.00 - | 838 4 s |8 "
*J0900506* 11.00 6.19 | 1038 6 10 e
- 10900806" 175 | 1300 | 088 150|200 025|125 031 | g5 | 133 [028| g | 38| or |15 28
*J0900706* 15.00 819 | 1438 6 5|14 58
*J0900806* 17.00 819 | 1638 6 16 2
*J0900906* 19.00 10.19 | 18.38 6 18
*J0901006* 21.00 10.19 | 20.38 6 20
*J0900108" 3.00 = | 238 4 2 —
*J0900208* 5.38 ~ | 475 4 4
*J0900308* 7.75 -~ | 713 4 6 ,,,
*J0900408* 10.13 - | 950 4 s |8 2
*J0900508* 12.50 743 | 11.88 6 AT k:
< 10900806* 200 | 1g | 100|150 (2381025 | 150 |031| 773 | {330 [028| § | 12| o |5 3
*J0900708" 17.25 950 | 1663 6 5|14 S
*J0900808* 19.63 9.50 | 19.00 6 16 @
*J0900908* 2200 1188 | 2138 6 18
*J0901008* 24.38 1188 | 2375 6 20
*J0900112" 3.63 ~ | 288 4 2
*J0900212* 6.88 - | 613 4 4 e,
*J0900312* 10.13 ~ | 938 4 6 28
*J0900412* 13.38 ~ | 1263 4 o |8 ]
*J0900512* 16.63 956 | 1588 6 y 10 o8
10900815+ 250 | jggg | 125]181(325(028 | 1941038| ggg | joqg [034| 6 |34 | o 1) e 2
*J0900712* 2313 12.81 | 2238 6 SRy &
*J0900812* 26.38 12.81 | 25.63 6 16
*J0900912* 29,63 16.06 | 28.88 6 18 I
*J0901012" 32.88 16.06 | 32.13 6 20
~J0900116" 4.00 ~ | 825 4 2
*J0900216* 7.75 ~ | 700 |® |4 4 >,
*J0900316* 1150 - | 1075 |2 4 6 £e
*J0900416* 15.25 ~ 1450 |Jg | 4 16 |8 gx
*J0900516* 19.00 1100 | 1825 [BS |6 | .. 10 S
*J0900616* 300 | 2975 | 1:50120013.75103412311038 | 4100 | 2200 |Z 2| 6 | T | a5rnp | 12
*J0900716* 26,50 14.75 | 2575 |1 &| 6 0|14
*J0900816* 30.25 1475 | 2050 |© % 6 16
*J0900916* 34.00 1850 | 33.25 |8~ | 6 18 ° 4
*J0901016* 37.75 18.50 | 37.00 6 20 28
*J0900120" 450 =~ | 350 4 2 ST
*J0900220* 8.50 ~ | 750 4 4 2 m
*J0900320* 12.50 ~ | 1150 4 6 g >
*J0900420" 16.50 - | 1550 4 o0 | 8 ££
*J0900520" 2050 1175 | 19550 6 10 3
R 350 | S4sp | 175|225 |400| 041269050 | 1175 | o350 |083| g |114] o ) S
*J0900720" 2850 15.75 | 27.50 6 0|14
*J0900820* 32,50 15.75 | 31.50 6 16
*J0900920" 36.50 19.75 | 35.50 6 18
*J0901020* 40,50 19.75 | 39.50 6 20

(]
5o
€29
®m
O C
T o
L]
I c
=
=

Chart continued on next page

215
Daman Products Company, Inc. * 1811 North Home Street « Mishawaka, IN 46545-7267

Tel: 800.959.7841 574.259.7841 « Fax: 800.241.7664 « Email: sales@daman.com ¢ www.daman.com

Technical
Information




7 &

Daman

Junction Manifolds - 90° Design (cont)

PART NO. A B C D E F G H J K L |M| N P Q
*J0900124~ 5.00 - 4.00 4 2
*J0900224* 10.00 - 9.00 4 4
*J0900324* 15.00 -- 14.00 4 6
*J0900424* 20.00 9.50 19.00 4 24 8
*J0900524* 25.00 14.50 | 24.00 6 10
10900624 4.00 3000 2.00 [ 2.50 | 5.00 | 0.41 | 3.19 | 0.50 1450 | 29.00 0.53 6 1-1/2 M4g)r(2 0 12
*J0900724* 35.00 19.50 | 34.00 6 14
*J0900824* 40.00 19.50 | 39.00 6 16
*J0900924* 45.00 24.50 | 44.00 6 18
*J0901024* 50.00 24.50 | 49.00 6 20

216

Daman Products Company, Inc. « 1811 North Home Street « Mishawaka, IN 46545-7267
Tel: 800.959.7841 574.259.7841 - Fax: 800.241.7664 + Email: sales@daman.com ¢ www.daman.com




7 bt

Junction Manifolds - 180° &=

Standard Custom
Manifolds Products

Cover
Plates

Valve
Adaptors

Subplates |

Servo Valve
Subplates

Tapping
Plates

Cartridge Valve
Cavity Bodies

(]
5o
€29
®m
O C
T o
L]
I c
=
=

Daman Products Company, Inc. * 1811 North Home Street « Mishawaka, IN 46545-7267
Tel: 800.959.7841 574.259.7841 « Fax: 800.241.7664 « Email: sales@daman.com ¢ www.daman.com

217

Technical
Information




7

Daman’

Junction Manifolds - 180" Design

Junction block mounting hardware
is supplied, except for stainless.

L DIA~ M PLACES N NPTF /BSPP/BSPT See page 201 for itemized list.
P METRIC/ SAE PORTS~ Q PLACES
A B

f«— D —=t=—— ETYP —= F

by il

] Ny B3 4 ‘ 7/ ‘
C / T
X i (7 i . ]
H —= J
K

rF

5
-Of—

}« D —wf=—— ETYP

1 !

o N o

Specifications, descriptions, and dimensional data are subject to
correction or change without notice or incurring obligation.
Download latest catalog page revisions at www.daman.com.

Ordering Information

i ; ; Side Port For coating options
Material Product Type |Side Port Layout| No. of Stations Threads see pages 245-246.
Material Side Port Layout Side Port Threads
Aluminum - 6061-T6 Ports out two oppo- * * * * *
A 30007 psi e 20.7 MPa 180 site sides 04B* | 04P 04T ,°r£ o 04M*| 04S - ‘g
D | Ductie Iron - D4512 06B* | 06P* | 06T* |, < 3| 06M* | 06S* | = w
5000t psi o 34.5 MPa - o—m g )
S* Stainless Steel - 17-4 No. of Stations 08B | 08P | 08T "o\: %) 8 08M | 08S % §
50001 psi e 34.5 MPa Check chart on 12B* | 12P* | 12T* 5 <Z( 2] 12M* | 12S* | o<
T Working pressure should 01 next page to 2 & & EQ
be considered in accordance . X * * * | ° * *| w2
with IS0 4413 to determine thru | verlly station- 168" 16P” | 16T £2d 1M} 165 T
appropriate material type. 10 | ™Goatons | |20B* | 20P* | 20T* & '| 20M* | 20S* | =&
- I n
*All stainless steel products
are passivated. Product Type 24B | 24P | 24T |° 24M | 24S @
Check chart on next page to verify
J | Junction Block station-port size combinations
* Available in Stainless Steel
Note: Pipe ports in stainless can gall.
218

Daman Products Company, Inc. + 1811 North Home Street « Mishawaka, IN 46545-7267
Tel: 800.959.7841 574.259.7841 - Fax: 800.241.7664 + Email: sales@daman.com ¢ www.daman.com



ed
7 ad S8
Daman s 3
238
Oqn
Junction Manifold 1800 Desi
uncuon wvianitoidas - esign
] ] [ N
o
£
PART NO. A B |c|D]|E]|]F]|G]|H J K LIM|N P Q S8
*J1800104* 213 = 150 4 2 =
*J1800204* 3.88 ~ | 325 4 4
*J1800304* 563 -~ | 500 4 6 I
*11800404* 7.38 - | 675 4 . 8
*J1800504* 913 513 | 850 6 - 10
< 1900804* 175 | fogp 088 | 106|175 025|125 |031| 213 | {op5 |028| g | 14| or D Y
*J1800704* 12.63 688 | 12.00 6 0114 S 3
*J1800804* 14.38 6.88 | 13.75 6 16 3 &
*1800904* 16.13 863 | 1550 6 18 on
*J1801004* 17.88 863 | 17.25 6 20
*J1800106* 3.00 ~ | 238 4 2
*1800206* 5.00 ~ | 438 4 4 I
*J1800306* 7.00 - | 638 4 6
*J1800406* 9.00 ~ | 838 4 s 8 "
*J1800506* 11.00 619 | 10.38 6 10 ®
< 11800806" 175 | 1300 | 088 150|200 025|125 031 | gl5 | 133 [028| g | 38| or |15 28
*J1800706* 15.00 819 | 14.38 6 5| 11 58
*J1800806* 17.00 819 | 16.38 6 16 2
*J1800906* 19.00 10.19 | 18138 6 18
*11801006* 21.00 1019 | 2038 6 20
*J1800108* 3.00 ~ | 238 4 2 S
*11800208* 5.38 ~ | 475 4 4
*11800308* 775 - | 713 4 6 ,,,
*J1800408* 10.13 ~ | 950 4 o 8 2
* * = o
RTErN 200 | 1250 | 1,00 [1.50 | 238|025 | 150 [0.31 | 713 | 188 1oo8) O qp | o |19 =
*J1800708* 17.25 950 | 16.63 6 M18x1.5 | 14 S
*11800808* 1963 950 | 19.00 6 16 ®
*J1800908* 22.00 11.88 | 21.38 6 18
*J1801008* 24.38 11.88 | 2375 6 20
*J1800112" 363 = | 288 4 2
*J1800212* 6.88 - | 613 4 4 e,
*J1800312* 10.13 ~ | 938 4 6 Z9
*11800412* 13.38 ~ | 1263 4 o |8 ]
*J1800512* 16.63 956 | 15.88 6 - 10 038
1800a15" 250 | jggg | 125|181(325(028 | 1941038| ggg | joqg [034| g |34 | o |5 e 2
*J1800712* 2313 12.81 | 22.38 6 014y S
*11800812* 26.38 12.81 | 2563 6 16
*11800912* 2963 16.06 | 28.88 6 18 I
*J1801012* 32.88 16.06 | 32.13 6 20
*J1800116" 4.00 ~ | 325 4 2
*11800216* 7.75 - | 700 |® | 4 4 >,
*11800316* 11.50 - | 1075 |23 4 6 £o
*J1800416* 15.25 ~ | 1450 |Jg | 4 16 |8 gx
*J1800516* 19.00 11.00 | 1825 |3S |6 | . 10 K
*J1800616* 300 | 2975 | 1:50120013.75103412311038 | 4100 | 2200 (@ 2| 6 | T | ja5rnp | 12
*J1800716* 26.50 1475 | 2575 [n & 6 0 13
*J1800816* 30.25 1475 | 2050 |©& | 6 16
*J1800916* 34.00 1850 | 3325 |® | 6 18 ° 4
*11801016* 37.75 18,50 | 37.00 6 20 28
*J1800120" 450 ~ | 350 4 2 ST
*J1800220* 8.50 - | 750 4 4 2 m
*11800320* 12.50 ~ | 1150 4 6 g >
*11800420* 16.50 ~ | 1550 4 o0 | 8 ££
*J1800520* 20.50 11.75 | 19.50 6 10 E3
R 350 | Jasp | 175|225 |400| 041269050 | 1175 | o350 |083| g |114] o |5 83
*J1800720* 28.50 15.75 | 27.50 6 0 14
*11800820* 32,50 15.75 | 3150 6 16
*J1800920* 36.50 19.75 | 35.50 6 18
*J1801020* 40,50 19.75 | 3950 6 20

(]
5o
€29
®m
O C
T o
L]
I c
=
=

Chart continued on next page

219
Daman Products Company, Inc. * 1811 North Home Street « Mishawaka, IN 46545-7267

Tel: 800.959.7841 574.259.7841 « Fax: 800.241.7664 « Email: sales@daman.com ¢ www.daman.com

Technical
Information




7

Daman’

Junction Manifolds - 180  Design (cont)

PART NO. A B C D E F G H J K L |M| N P Q
*J1800124* 5.00 - 4.00 4 2
*J1800224* 10.00 -- 9.00 4 4
*J1800324* 15.00 - 14.00 4 6
*J1800424* 20.00 9.50 19.00 4 24 8
*J1800524* 25.00 14.50 | 24.00 6 10
*J1800624* 4.00 30,00 2.00 (2.50 | 5.00 | 0.41|3.19 | 0.50 1450 | 2900 0.53 6 1-1/2 M4g)r(2 0 12
*J1800724* 35.00 19.50 | 34.00 6 w14
*J1800824* 40.00 19.50 | 39.00 6 16
*J1800924* 45.00 2450 | 44.00 6 18
*J1801024* 50.00 24.50 | 49.00 6 20

220

Daman Products Company, Inc. + 1811 North Home Street « Mishawaka, IN 46545-7267
Tel: 800.959.7841 574.259.7841 - Fax: 800.241.7664 + Email: sales@daman.com ¢ www.daman.com




7 bt

Junction Manifolds - 270° &=

Standard Custom
Manifolds Products

Cover
Plates

Valve
Adaptors

Subplates |

Servo Valve
Subplates

Tapping
Plates

Cartridge Valve
Cavity Bodies

(]
5o
€29
®m
O C
T o
L]
I c
=
=

221
Daman Products Company, Inc. * 1811 North Home Street « Mishawaka, IN 46545-7267

Tel: 800.959.7841 574.259.7841 « Fax: 800.241.7664 « Email: sales@daman.com ¢ www.daman.com

Technical
Information




7

Daman’

Junction Manifolds - 270 Design

L DIA~ M PLACES
A
-

D —w—=—— ETYP

——

N NPTF/BSPP/BSPT

Junction block mounting hardware

is supplied, except for stainless.

P METRIC/ SAE PORTS~ Q PLACES

FF

s
C
1

(c ;

|
%\
|

H —=

J

K

'*F

-

5 © ©

’——D

ETYP

o o

Ordering Information

Specifications, descriptions, and dimensional data are subject to

See page 201 for itemized list.

correction or change without notice or incurring obligation.
Download latest catalog page revisions at www.daman.com.

For coating options
see pages 245-246.

Material Product Type |Side Port Layout| No. of Stations iiﬂfe:é’:
Material Side Port Layout Side Port Threads

A

Aluminum - 6061-T6
3000t psi e 20.7 MPa

D

Ductile Iron - D4512
50007 psi  34.5 MPa

S*

Stainless Steel - 17-4
50007 psi  34.5 MPa

with

T Working pressure should
be considered in accordance

appropriate material type.

1ISO 4413 to determine

*All stainless steel products
are passivated.

270 |Fors ot three adje- 04B* | 04P* | 04T* |o | 04M*| 04S*
06B* | 06P* | 06T* |, 5 5| 06M* | 06S*
No. of Stations 08B | 08P | 08T |22 ~| 08M | 08S
Checkcharton|  |12B* | 12P* | 12T* |3 22| 12M* | 12S*
next page to T
verify.station- 163* 16P* 16T* &E% 16M* 163*
portsize com- | | 20B* | 20P* | 20T* |22 | 20m* | 208*
Product Type 24B | 24P | 24T | | 24M | 24S

J

Junction Block

METRIC - ISO 6149

M=

SAE « ISO 11926, SAE 1926

S=

Check chart on next page to verify

station-port size combinations

* Available in Stainless Steel

Note: Pipe ports in stainless can gall.

222

Daman Products Company, Inc. + 1811 North Home Street « Mishawaka, IN 46545-7267
Tel: 800.959.7841 574.259.7841 - Fax: 800.241.7664 + Email: sales@daman.com ¢ www.daman.com




ed
7 bt 58
Daman %3
30
On
Junction Manifolds - 270 Desi N
uncuon wvanimoias - esign
] ] [ N
o
T w=
S =
PART NO. A B C D E F G H J K L M N P Q ‘..’_.‘: %
*J2700104* 2.13 - 1.50 4 3 =
*J2700204* 3.88 - 3.25 4 6
*J2700304* 5.63 - 5.00 4 9 —
*J2700404* 7.38 - 6.75 4 4 12
*J2700504* 9.13 5.13 8.50 6 B 15
* 12700604* 1.75 10.88 0.881.06|1.75|0.25(1.25|0.31 513 10.95 0.28 6 1/4 M18)I;1 0 18 -
*J2700704* 12.63 6.88 12.00 6 : 21 g o
*J2700804* 14.38 6.88 13.75 6 24 o T
*J2700904* 16.13 8.63 15.50 6 27 On
*J2701004* 17.88 8.63 17.25 6 30
*J2700106* 3.00 - 2.38 4 3
*J2700206* 5.00 - 4.38 4 6 —
*J2700306* 7.00 - 6.38 4 9
*J2700406* 9.00 - 8.38 4 6 12 "
*J2700506* 11.00 6.19 10.38 6 15 =
* |2700606* 1.75 13.00 0.8811.50|2.00|0.25(1.25|0.31 6.19 12,38 0.28 6 3/8 |\/|12;1 5 18 g %
*J2700706* 15.00 8.19 14.38 6 : 21 <>U ©
*J2700806* 17.00 8.19 16.38 6 24 2
*J2700906* 19.00 10.19 18.38 6 27
*J2701006* 21.00 10.19 | 20.38 6 30
*J2700108" 3.00 ~ | 238 4 3 —
*J2700208* 5.38 - | 475 4 6
*J2700308* 7.75 ~ | 713 4 9 "
*J2700408* 10.13 - | 950 4 g |12 8
*J2700508* 12.50 7.13 11.88 6 B 15 o
*J2700608* 2.00 14.88 1.00 | 1.50|2.38|0.25|1.50 | 0.31 713 14.25 0.28 6 112 M1g;1 5 18 -g_
*J2700708* 17.25 9.50 16.63 6 : 21 (3
*J2700808* 19.63 9.50 19.00 6 24
*J2700908* 22.00 11.88 | 21.38 6 27
*J2701008* 24.38 11.88 23.75 6 30
*J2700112* 3.63 - 2.88 4 3
*J2700212* 6.88 - 6.13 4 6 g »
*J2700312* 10.13 - 9.38 4 9 T3
*J2700412* 13.38 - 12.63 4 12 12 > ‘_g_
*J2700512* 16.63 9.56 15.88 6 B 15 9 9
* 1270061 2* 2.50 19.88 1.25(1.81(3.25[0.28|1.94|0.38 9.56 19.13 0.34 6 3/4 MZ%I;Z 0 18 E =
*J2700712* 23.13 12.81 22.38 6 : 21 ) »n
*J2700812* 26.38 12.81 25.63 6 24
*J2700912* 29.63 16.06 | 28.88 6 27 I
*J2701012* 32.88 16.06 | 32.13 6 30
*J2700116* 4.00 - 3.25 4 3
*J2700216* 7.75 - 700 | - 4 6 g‘ »
*J2700316* 11.50 - 1075 |2 | 4 9 = 8
*J2700416* 15.25 - 14.50 _; g 4 16 12 % g
*J2700516* 19.00 11.00 1825 |6 5| 6 » 15 -
*J2700716* 26.50 1475 | 2575 |1 o | 6 : 21
*J2700816* 30.25 14.75 | 29.50 i ﬁ 6 24
*J2700916* 34.00 18.50 33.25 | 6 27 o
*J2701016* 37.75 18.50 37.00 6 30 % o
*J2700120* 4.50 ~ | 350 4 3 >3
*J2700220* 8.50 - | 750 4 6 2 m
*J2700320* 12.50 ~ | 1150 4 9 2>
*J2700420" 16.50 - | 1550 4 o0 |12 £ %
*J2700520* 20.50 11.75 19.50 6 15 c ©
*J2700620* 3.50 2450 1.75(12.25(4.00 | 0.41|2.69 | 0.50 175 2350 0.53 6 1-1/4 |\/|4(2);2 0 18 RS
*J2700720* 28.50 15.75 | 27.50 6 : 21
*J2700820* 32.50 15.75 31.50 6 24
*J2700920* 36.50 19.75 | 35.50 6 27
*J2701020* 40.50 19.75 39.50 6 30

(]
5o
€29
®m
O C
T o
L]
I c
=
=

Chart continued on next page

223
Daman Products Company, Inc. * 1811 North Home Street « Mishawaka, IN 46545-7267

Tel: 800.959.7841 574.259.7841 « Fax: 800.241.7664 « Email: sales@daman.com ¢ www.daman.com

Technical
Information




7

Daman’

Junction Manifolds - 270 Design (cont)

PART NO. A B C D E F G H J K L M N P Q
*J2700124* 5.00 - 4.00 4 3
*J2700224* 10.00 - 9.00 4 6
*J2700324* 15.00 - 14.00 4 9
*J2700424* 20.00 9.50 19.00 6 24 12
*J2700524* 25.00 14.50 24.00 6 15
* 12700624* 4.00 3000 2.002.50(5.00|0.41|3.19|0.50 1450 | 2900 0.53 6 1-1/2 M4§)r(2 0 18
*J2700724* 35.00 19.50 | 34.00 6 ' 21
*J2700824* 40.00 19.50 39.00 6 24
*J2700924* 45.00 24.50 | 44.00 6 27
*J2701024* 50.00 24.50 | 49.00 6 30

224

Daman Products Company, Inc. + 1811 North Home Street « Mishawaka, IN 46545-7267
Tel: 800.959.7841 574.259.7841 - Fax: 800.241.7664 + Email: sales@daman.com ¢ www.daman.com




